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Answer Key for Jailor Post Online Exam dated 05" Jan 2014

Slot 2 (From 3:30 pm to 5:00 pm)

B I always read the newspaper before.........c..ccoeuenee. work.
Options :
1 start
2 to start
v 3 starting
4 started
|_ Liz is from Edinburgh. She .........cccccoviinniiinnins There all her life
Options :
1 is living
v 2 has lived
3 lives
4 lived
|_ That bag is too heavy for you.Let me.........ccccoviiiinniiiiiiiins you.
Options :
1 helping
2 to help
v 3 help
4 helped
B "Did you use a diCtioNary........coc.coveervereeereeerereeeees .the letter ?"
Options :
1 to translating
2 for translating
3 for translate
(74 4 to translate
B A computer is not a substitute for human brain a support.
Options :
1 and
v 2 but
3 though
4 yet
|_ A French man was doing experiment ___ a metal.
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